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2 Jlqu

To determine the molar mass of an element , one must know ypaiall A e o geaial 4 gl AN a0l

the elements.................

A. Avogadro’s number soa gl e A

B. atomic number s el B

C. Number of isotopes Al e

D. Averapge atomic mass Aol Ol asgia D
A

xE

C




: 4 Lligu,l

The mass of 1 mol of gold atoms is 196.97 g
What is the mass of 1 atom of gold?

196.97 g5 f3 —adll il 33 (e Jge 1 ALS
Pl (e Saal g 53 ALS La

3.27 % 10~?? g/atom

6.022 x 10°2 g/atom

6.54 x 1072? g/atom

=N ial ol g

9.81 x 10™° g/atom

=

o A

|1|‘;-'I||l



5 g

The number of atoms in a mole of any pure substance " s Tk 3. 1...:| e ge o iyl e
is called..........,
A. Its atomic number Al 2l A
B. Avogadro's number sdag e B
C. Its mass number A sl C
D. Its gram-atomic number g adle o 30 2l D
A
LMS _1 OADV -
- —
C




What is the mass of 2.5 mole of carbon?

o Sl e Jue 25

A 25g

B, 3.0g

C. 30¢g

D. 12¢
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1 Jldquw

If samples of two different elements each represent one P Jge2aly ._,,""_...T Lagie 2al g JS _,_ﬂ_m. o peainl Zlie
mole, then ................. -

SRR ¢ P
A. They are equal in mass Al G gugds A
B. They contain the same number of atoms o ol s i lagies B
C. Their molar masses are equal Lgldalagdiu ol g8 C
D. They have the same atomic mass >,

A

+B

xC




